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vpol| A2yt y Tl gAY FH 2 Ed wE HAAS (CCTG, 1993)

Soil type Coefficient a,

Anchor Type = IGU IRS
Micropile Tpye = Type C Type D
Gravel 1.3-14 1.8
Sandy Gravel 1.2 - 1.4 1.6 - 1.8
Gravely Sand 1.2 - 1.3 1.5-1.6
Coarse Sand 1.1 -1.2 1.4-15
Medium Sand 1.1 -1.2 1.4 -1.5
Fine Sand 1.1 -1.2 1.4 -1.5
Silty Sand 1.1 -1.2 14-15
Silt 1.1 -1.2 1.4-1.6
Clay 1.2 1.8 - 2.0
Marl 1.1 -1.2 1.8
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Aue £% AW 57 BAMC S CASUTE N
35k A5k
e 1500 2500
op e 1000 1500
Z3hot 600 1000
I} o 600 1200
10 100 200
20 170 250
) 2}z Nzt 30 250 350
40 350 450
50 450 700
10 100 140
20 180 220
7 Nzt 30 230 270
40 290 350
50 300 400
AN E 1.0c (c&= #&=H)
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A7IN, N, = {0 77log10( — )}N (2.3—-12)
o] 7] A,

Ny = FASE o,/ tate] 43 5% dbtx o] x4l SPT €4 34=(el/300 mn)
N = SPT ©EA315(E}/300 mm)
D = %59 % T+ A% (m)
, = AAT YR EEHo] (m)
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6.4.5 T4

AgFel 2774 w5 FHol ZHoz 43 AYAA EAY ZFe IE T Fo g@AASIL
0.5MPa "Rkl A= = dist ot HEE F-3sto]of i},
2
1 fe
F;b—n ><F +;§Ef
TE I
o] 7] A, F,=—"t
FE)])
Fo=—— (33%)

6.5 2774 25 AA (d)
6.5.1 AA=ZA
- & AY : 5=
— EL%‘% AW 114.3mm, t=9.0mm
— WEZo] 1 6.0m
— AWEA  B9=2F 19.0kN/m>
N : Layerl, N = 30, L=4m
Layer2, N = 40, L=1m
— AEASG 1 0.45(SPTHEA])

6.5.2 WEo] HAXXH
7F, AAAAX Y AFH(KDS 11 50 20 : 2018)
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Qr=90Q, = &, Qu

Qr=9Q, = ¢ @, + &4 Qs

@, = q,4,

@, = ¢, 4,

L AAAAE A
@ AFAF ¢ = 0.45 ; SPTHEA] (KDS 11 50 10 :2018, 2.5 AZAGF & 2.5-2)
@ dA8&9
’ ’ 1
0y = H =7 H =(19-10)5(0+3.0)=135kPa
@ N BAAF

1.92 1.92
N, = {O 7710g10( o )}N— [0 7710g10( 0.0405 )}40—51.6
@ A AEAA

® F# A9AA

% g =04N,, = 20.64 MPa
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~ 0.038N,,, D, 0.038<51.6 X1.0
9 = D a 0.114

=172 MPa

Qp = qu =17.20.02137 = 0.367 MPa = 36TkN
* 1Fade TE H4 3DolA o R Fas =1

: N=30, 7 =230kPa
: N=40, 7 =290kPa

Q0 = Ry, =7,mD, L =290 X7 x0.165 < 3.0 = 450.7TAT kN
AA A A

Quie = Qup+ X, Q. = 367+ 357.489+450.747 = 1175.236 kN
i=2

Qp = $Q,, = 0.45x1175.236 = 528.85 kN



